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GENERAL INSTRUCTIONS :
1. |ty sifard € |

All questions are compulsory.

2. THYUA H 25 Y% diF Wl A, BT cH fawifsa € | v A H 10 U TEH
2 3% 1, @€ BH 10T Y% 337k 1 qN @< CH 579 TS 63FH A T |
This question paper consists of 25 questions divided into three Sections A, B and
C. Section A contains 10 questions of 2 marks each, Section B contains
10 questions of 3 marks each and Section C contains 5 questions of 6 marks
each.

3. T % I H Had FHT T |
Only sketches are to be given in the answers of construction.

4. 9 IR Y & W @ W etene 7 € fod |
Answers of the questions must be in the context of the instructions given
therein.

5. | TE HE Y9-He -3 JRdepl & 3id ¥ fqu T gaf R & HifSe, 7= +el 121 |
Do all rough work only on the last pages of the Question-Cum-Answer Booklet
and nowhere else.

Qug - A
( Y €& 19 10TF YAH 2 3 A1 T )
SECTION - A
( Question Nos. 1 to 10 carry 2 marks each )

A 1. p%ﬁﬁmmwmmwmﬁ?ﬂpx+3y=7,
2x — y = 61 AfGdT A B |
e
frft i F eI A d e d o 199 € a8 ¢ a7 Sl @ | Wy

e g% § 5, W AT o B § 198 e 9@ i |

Q. 1. Find the value of p, for which the system of equations px + 3y = 7,
2x —y = 6 has exactly one solution.
OR

A fraction becomes% if 1 is added to each of the numerator and the
denominator. However, if we subtract 5 from each, the fraction

becomes % . Find the fraction.
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T 6
Q. 6
TE 7
Q. 7
T8
Q. 8

(aWal o ¥ o

JehT 98 I J1d hifod fSeh faT x2 + 2kx + 3k + 33X x2 + x — 5k &

HCF x + 581 |
Find the value of k for which the HCF of x2 + 2kx + 3k + 3 and

x2 + x-5kisx +5.

T hIfT :

(x+5)2 -36=0

Solve :
(x+5)2 -36=0

119, 136, 153, 170, ... A.P. &1 94 R J1d HIFST 3R ITF A T TS
fafey |

Find the common difference of the A.P. of 119, 136, 153, 170, ........
and write the next two terms.

T SHHT 800 To The AM 3TIAT 500 Fo T@hlal The YTTAM IR B: WA
IYETq <F 320 Fo H IUGTeY § | fohed AIS1 o Sl @IT T ST Y <X A
HIfST |

A briefcase is available for Rs. 800 cash or for Rs. 500 cash down

payment and Rs. 320 to be paid after six months. Find the rate of

interest charged under the instalment plan.

fRdll SRUT ol <1 WHM a1fieh fohedl § GpMT & | AfG 16% ATt AT ol WS
a1 21 iR Ui fohed 1,682 %o & B, < 0T &l UM 3R Fal AT TRepferd
SHITT |

A loan has to be returned in two equal annual instalments. If the rate of

interest is 16% per annum compounded annually and each instalment is

Rs.1,682, find the sum ( loan ) borrowed and the total interest charged.
TYMET : tan4 A+ tan2 A = sec* A — sec? A.

3YUdr
qH fhIfeT @ sin2 20° + sin 2 70°.
Show that tan* A +tan? A =sec* A —sec? A.

OR

Evaluate sin? 20° + sin? 70°.
T AagTia W & YR &t 7o R TS S huwn: 7 96 3R 24 A
¥ | 91 1 ST A1 i |

The radius of the base and the height of a right circular cone are 7 cm

and 24 cm respectively. Find the volume of the cone.

A - MATH
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T 9. T ATHhSl A T WME-TRE & T H Tl BT
g HUS | OieH |wehEfeRuEm | forem fafaer
2] 600 4,000 1,200 400 1,000
(FTAH )
Q. 9. Represent the following data in the form of a pie-chart :
Items Clothing | Food House rent | Education| Miscellaneous
Amount Spent 600 4,000 1,200 400 1,000
(in Rs. )
TE 10, TH I H U o1, 318 Tihe, IR B4 IR W[ el e § | T i agesan da
G FeRrelt St € | Wifereken 9 i foh Fepreft 78 91 el §
Q. 10. A bag contains 5 red balls, 8 white balls, 4 green balls and 7 black balls.
If one ball is drawn at random, find the probability that it is black.
©us - B
( 9 F&A 119 20TF Y% 3 3F H ¢ )
SECTION - B
( Question Nos. 11 to 20 carry 3 marks each )
T 11, AoEE fafy 9 ga SNy (I8 9@ 00 R 3 T U6 SRS &1 TA 6 )
x-y=0
X+y=2.
Q. 11. Solve graphically ( Use the graph paper given on Page No. 00 ) :
x-y=0
X +y=2.
T 12, G R & 7 S
7,09 4 _ g
v u v u
12. Solve the system of equations :
L7 09 4 _ 4
v u v u
13. WS HIFT :
1 1 2 4
x-1 x+1  x2+1  x%*+1
13. Simplify :
1 1 2 4
x-1 ~ x+1 ~ x2+1 ~ x%+1
JARHAIR A - MATH P.T. 0.
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6x2 +x-2 =0

Q. 14. Find the roots of the equation :

6x2 +x-2 =0

T 15. 95 Hifww fof forelt s o6t 2 yostl o 9= fogsll =01 foam ot @, dest

ST % GHKR Sl § |
areran

3Tpfa #, 9 fag A, B3R ¢ {58 99 W 39 ¥R feom € f Sl AB 3ik AC
HE O HHI: 90° 3 110° % HI Tdfd HLdl & | £ BAC T hifST |

Prove that the line joining the mid-points of any two sides of a triangle is

parallel to the third side.
OR

In figure, A, B and C are three points on a circle such that the angles
subtended by the chords AB and AC at the centre O are 90° and 110°
respectively. Determine 2 BAC.




JAC

7

WA

Q.

16. T T3 o Tqd 1 T ST fSTGeh! YT 590, 12 96 g1 139 € aon

16.

17.

18.

18.

19.

19.

20.

20.

3Gl s wfua |

SREI

T IS ABC &1 =1 hifSe fS9H BC = 6 91T, £ A = 45° A1 A&
AD = 59T B |

Construct an incircle of a triangle whose sides are 5 cm, 12 cm and
13 cm and measure its radius.

OR

Construct a triangle ABC in which BC = 6 cm, £ A = 45° and

median AD = 5 cm.

. T Vi Toent SoE 24 9t &R froer R &t oo 6 9t €, wiemn sAm et

ferheit fiagt @ oA T ® | U oA 3HH TA: TSl F SRR H A © | e
EIRERIEISICAIS I

A cone of height 24 cm and radius of base 6 cm is made up of modelling
clay. A child reshapes it in the form of a sphere. Find the radius of the

sphere.

fe 45 At St Tk et & G &) Seard o8 96 iR 7 9 €, @ ST
HTRET 1 it |

If the radii of the ends of a bucket 45 cm high are 28 cm and 7 cm,

determine its capacity.

X-318 R 98 fog Fa wifere, 5 fagef (5, 4 )8R (-2, 3)9 TEEI T |

Find a point on the X-axis which is equidistant from the points ( 5, 4 )

and (-2, 3).

39 fog & e I@ ST ST (-7, 4 )3 (-6, - 5 ) @ HAW 3w @1
e ®l 7 : 2% AU H sia:fawfed #ar ¥ |

Find the coordinates of the point which divides the line-segment joining

the points (- 7, 4 ) and ( — 6, — 5 ) internally in the ratio 7 : 2.

A= MATH [P. T. O.
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21.

21.

22.

22.

23.

23.

Qug - C
( 9 H@&m 219 25T TIF 631 H T )
SECTION - C
( Question Nos. 21 to 25 carry 6 marks each )

fag =ifere for Tgentor fgst ) ot 6t ot o= ST ogemstl & avif & 31T & aRTeR
AT g |

Prove that in a right-angled triangle, the square of the hypotenuse is
equal to the sum of the squares of the other two sides.

forslt =T gRT o5 TR STARA IV 39 =19 5 99 o A9 97 R fq fheft foig =
siafta =1 1 g B ® 138 fag wifs |

areraT
Ifg PAB el 91 i Teh D¢ X&T § W1 38 A 991 B W Ufdwsg &l § q1 PT
T TN @, fag #ifNe % PA . PB =PT2 |

The angle subtended by an arc at the centre is double the angle

subtended by it at any point on the remaining part of the circle. Prove it.
OR
If PAB is a secant to a circle intersecting it at A and B, and PT is a

tangent, then prove that PA . PB = PT 2.

100 |t Sl Teh HAR =t =ife 3R 3% 3MUR 9, Tk =M i T & Sed I
FHHI: 30° 3N 45°F | TEM I SaE J1d IS |

SREI

50 Ht St TETEl % fImeR W frddt WHAR ) =ife R eMUR % S A wIv
THHY:30° 3R 45°% | AR &Y e I HiTST |

The angles of elevation of the top of rock from the top and bottom of a

100 m high tower are 30° and 45° respectively. Find the height of the

rock.
OR

From the top of a cliff 50 m high, the angles of depression of the top and
bottom of a tower are observed to be 30° and 45° respectively. Find the

height of the tower.

A - MATH
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Q.

TR

24, TrAfafRgd sERAT sied & A1eT &1 9Rehad HifeT :
- 0 - 80 80 - 160 | 160 — 240( 240 — 320| 320 — 400
ST 22 35 44 25 24
24. Calculate the mean of the following frequency distribution :
Class-interval 0 - 80 80 — 160 | 160 — 240| 240 — 320 320 — 400
Frequency 22 35 44 25 24

25. TfSEX ®HR &1 [T Ia9 15,400 Fo § | 98 fd A® 1,000 To vfasy fafy |

3R S ST & 1,000 o o1t 3HITEe WfFem <t € | 98 3,100 o TS
STIHYH F5 T T % T H I IH W 100% HI FHNd TH HA § | 3H e

TR <A1 Ul ?

AT ht AT o foau F=fafad =1 9= shifse .

(a) W Herdl ; Ife 9d9 1,50,000 Fo § A 3R 3,00,000 To
F 3Afreh 781 @ 25,000 %o |
(b) 3MMAFRT kI &L : SIuft 3MIHT
G 50,000 %o dHh F9 Tl
(i) 50,001%0 F 50,000 %o H 37f¥reh
60,000 To ddh TR AT 10%
(iii) 60,001 Fo § 1,000 %o + 60,000 %o

1,50,000 %o de&h 7 2freR Tl =1 20%

(iv) 1,50,000 %0 ¥ 31tk 19,000 %o + 1,50,000

%o
Y aAfysk Tl 1 30%
() AEFAFRTHAYE : el = hl 15% 91 Aigenl o A Afafiw
5,000 %o |
(d) AU : < SIH HT 5% |
A - MATH
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Q. 25. Rajinder Kaur’s monthly salary is Rs. 15,400. She contributes Rs. 1,000

per month towards PF and pays Rs. 1,000 quarterly on LIC premium
during the year. She donates Rs. 3,100 to Medical Research Centre and
earns a relief of 100% on the donation. Find the amount of income tax

paid by her.
Use the following for calculating income tax :

(@) Standard deduction : If the salary exceeds Rs. 1,50,000 but does
not exceed Rs. 3,00,000, then Rs. 25,000.

(b) Rates of income tax : Slab Income Tax

(i) Upto Rs. 50,000 NIL

(i) Rs. 50,001 to 10% of the amount
Rs. 60,000 exceeding Rs. 50,000

(i) Rs. 60,001 to Rs. 1,000 + 20% of
Rs.1,50,000 amount exceeding

Rs. 60,000
(iv) Above Rs. 1,50,000 Rs. 19,000 + 30% of

the amount exceeding

Rs. 1,50,000.
() Rebate in income tax : 15% of the total savings and Rs. 5,000
extra for female.
(d) Surcharge : 5% of the income tax payable.

A - MATH



